

Alliance™ High-Capacity Dispensing System



WausauPAPER®



SIMPLY INTELLIGENT HIGH-CA



With twice the capacity of typical electronic towel dispensers, the Alliance™ dispenser by Wausau Paper offers the highest capacity in the industry. Unlike traditional roll towel dispensers, the Alliance™ dispenser's revolutionary design accommodates two full rolls of towels — up to 1,000′ each — with no need to move stub rolls. The patent-pending and innovative electronic design automatically transfers to the second roll when the first is completely depleted, keeping high-traffic areas up and running while reducing maintenance. Combined with EcoSoft®, DublNature® or Artisan™ Green Seal™-certified toweling, Alliance™ offers a new, unique hand-drying experience superior to other systems in the market.







KEEPS THE BUSIEST AREAS UP AND RUNNING

The revolutionary design accommodates two full rolls of towel to keep traffic moving in the busiest washrooms. With double the capacity of typical electronic dispensers, Alliance™ delivers up to 2,000 dispenses per service for fewer run-outs and maintenance visits. This is important in areas such as commercial offices, lodging establishments, healthcare facilities, colleges/universities, or any application with heavy traffic.

SIMPLY INTELLIGENT

An advanced patent-pending electronic system seamlessly transfers between rolls with no need to move stub rolls. When either roll is empty, the dispenser automatically transfers to the other roll. Maintenance is also a breeze. Simply replace the empty roll, and the dispenser will prepare the new roll then switch back to the smaller roll for optimum efficiency. Indicator lights for battery and product status eliminate guesswork and streamline maintenance tasks.

CUSTOMIZE FOR YOUR ENVIRONMENT

Alliance™ is easily configured to meet the specific needs of your busy washroom with selectable dispense modes and paper lengths. Choose valet mode to automatically dispense a single pre-cut towel when a towel is taken, or select on-demand mode to present a towel with a wave of the hand. Towel length is adjustable to meet your preference and environment, and Alliance™ can even be configured to be serviced from either side, maximizing the options for placement.



ADA Title III Compliant

AllianceTM is ADA Title III compliant when installed according to the guidelines outlined in the ADA Standards for Accessible Design. Paper is easily dispensed with one hand, with less than 5 lbs. of force and without tight grasping, pinching or twisting of the wrist.

APACITY ELECTRONIC DISPENSING



Alliance™ helps improve hygiene

TOUCH-FREE Touch-free operation reduces the risk of cross contamination since you touch only your towel

REDUCES BACTERIA Paper towels reduce the number of bacteria on hands, unlike warm air dryers which can increase and spread harmful bacteria in the washroom

HACCP The touch-free design supports the principles of HACCP (Hazard Analysis and Critical Control Point) as an important preventative measure in avoiding cross contamination



Alliance™ is environmentally preferable

CONTROLS USAGE Metered dispensing of one pre-cut, pre-measured towel discourages waste

EFFICIENT OPERATION Alliance™ dispenses up to 80 full rolls of 1,000' towels on a single set of 4 D-Cell batteries under normal conditions and usage. Environmentally preferable Fuji Environmentally batteries are included with the dispenser

GREEN SEALTM-CERTIFIED TOWELS A variety of 100% recycled Green SealTM-certified towels are available in lengths of 600, 800 and 1,000 feet



Alliance™ controls costs

REDUCES WASTE Unique patent-pending automatic roll transfer utilizes each roll completely before transferring to the next roll to prevent stub roll waste

MINIMIZES MAINTENANCE COSTS One full loading of the dispenser offers more than 2,000 11" towels so maintenance visits can be reduced by as much as 50%. Indicator lights show status of towel and batteries at a glance and servicing is simple

ADJUSTABLE SETTINGS Choose the optimal dispensing settings to conserve paper while meeting user needs. With two operational modes and variable sheet length, Alliance™ can be configured to meet your location's specific needs

LOCKING COVER Prevents pilferage and waste

CONTROLLED-USE ROLL TOWEL DISPENSERS

No./ Translucent Color

Dispenser Size (W" x H" x D")

Dispenser Weight

Case Size (W" x H" x D") Dispenser Case Cube

Cases/Unit

89000 | 79000 89080 | 79080





Name

12% x 19% x 10%

10.5 lbs.

19% x 11% x 13%

1.73

49

GREEN SEAL™-CERTIFIED **ECOSOFT®**, **DUBLNATURE® AND ARTISAN™ PRODUCTS**



No.		Name	Color	Roll Width	Feet/Roll	Rolls/Case	Feet/Case
CONTRO	OLLED-U	JSE ROLL TOWEL	S - FOR USE WITH 800 SE	ERIES ALLIANCE	М		
31040	CENTIFIC CONTRACT	DublNature®	White	8"	1,000	6	6,000
31000	CERTIFIC	EcoSoft™	Natural	8"	1,000	6	6,000
38040	SERTIFIED STATE	DublNature®	White	8"	800	6	4,800
31400	SEAL SEAL	EcoSoft™	Natural White	8"	800	6	4,800
31300	SEAL SEAL	EcoSoft™	Natural	8"	800	6	4,800
30620	SERTING CONTINUES	Artisan™	White	8"	600	6	3,600
	ale star	D. IIII - t	White	8"	600	6	3,600
36040	CERTIFIC	DublNature®	VVIIILE	0	000	0	3,000
36040	O CENTULE	Dublinature	willte	0	000	Ü	3,000
			S – FOR USE WITH 700 SE			Ü	3,000
						6	6,000
CONTRO	OLLED-U	JSE ROLL TOWEL	S - FOR USE WITH 700 SE	ERIES ALLIANCE	м		
CONTRO 71040	OLLED-U	JSE ROLL TOWEL DublNature®	S – FOR USE WITH 700 SE White	ERIES ALLIANCE ⁷	м 1,000	6	6,000
71040 71000	OLLED-U	USE ROLL TOWEL DublNature® EcoSoft™	S - FOR USE WITH 700 SE White Natural	FRIES ALLIANCE 7/½" 7½"	1,000 1,000	6	6,000
71040 71000 78040	OLLED-U	USE ROLL TOWEL DublNature® EcoSoft™ DublNature®	S - FOR USE WITH 700 SE White Natural White	7½" 7½" 7½"	1,000 1,000 800	6 6	6,000 6,000 4,800
71040 71000 78040 71400	OLLED-U	USE ROLL TOWEL DublNature® EcoSoft™ DublNature® EcoSoft™	S - FOR USE WITH 700 SE White Natural White Natural White	7½" 7½" 7½" 7½"	1,000 1,000 800	6 6 6	6,000 6,000 4,800 4,800

Availability and specifications are subject to change.





